0
% Y — lOO_A)s

P{)?n Za/z(j-;jélué)?n+Za/2(inﬂ:1—a U =

_ 2
Z=(X Y)—(u,— 1) #1—ﬂ2=Y—YiZa/z S_1_|__
S} i n
n.n,
_ o 1 1
p X)) U=, =X—-ytt-s- |—+—
1 1 n.n,
S [—T—
n,n,

Y~ Hy 2= v S -
[ =——— 2 52 Xn—l‘n_ — | <L SXn-l-l‘n_
S/\/; R 1[\/;} “ 1(

S:\/(nl_l)s12+(nz_1)szz /= = Y2)— 9,

n+n,—2 S, /In
X
P n—1)-s’ s}
Z=__1n X? = ( 2) F===
p(l1-p,) o) S
n
:Zni(')_ci_)_c)z 55:Z(ni_1)51‘2
1
o TETPAYyOVA PETOED BSWWH(DV s (k1)

TeTpdyove. eviog detypdtov s, /(n—K)

P— Dy P~ P>

zZ = zZ =
\/po(l_po)/n \/pl(l_pl)+p2(1_p2)

n, n,




Avapevopeveg Tipég kat. 1 opddog 1, 2
011 = (11t 712) (1 tman)/N, 021 = (T1+722)- (7011 +721)/N
Avapevopeveg Tipég kat. 2 opdoog 1, 2
012 = (T11+7012) (12T 722)/N, 020 = (T021+H722)(T12T722)/N

X2 = (7, _‘911)2 n (7, _912)2 n (75, _‘921)2 + (75, _922)2
0, 0., 0,, 6,

s k
(anf)(zny) s k(-0 )2
0. =" /7] X = 20T e =(s-1)-(k-1)
! N - Z O

D = max |F1(x) — F2(x)|
m+n

Ia peyéra mn (>15): a=0.05, D,,,=1.36

- m-n
2nn ,  2nn,(2nn,—n —n
17%2 +1 — 1 2( 17°2 1 2) 7 =

n+n, ' (n1+n2)2(n1+n2—1) o,

3 (- F)0, - )
Demingb=U + \/@ - i=1

\/i(x,. SIPNCE

U-u,

IN'onl,n2>10 4, =

inyi_nx_y . . Sz
b=-1 a=y—bx A==5
- 2 =2 Sy
le. —nx
i=1
& 2 1 S 2
6-(d?+dZ+--+d>) D=2 (-
I"T=1— 3 : U ==L i=1
n —n

ZZ(yi _J_/)(xi —X)

p+1.96 /L =P) C]il.%,/M Ii1.96\/z
VN N R



